.1, = o) Ago] Aol Qe 3719 FhES) |, o] mgo|
Mol gl 37k 9] ZHET Gleh A4S 19 B 1712 H Ao

BHE % gl Bk BE 9 /b9

® 3744 @ 6714 ® 7714
@971 ® 10744




@ 20 7N

® 25 71

3x5 = 15(7})




A AN 5F 72l FH At 3FFo 524 T8al 2572
HAEZL . W7 et 5ra, HAES T AER & of, ¥

s 1 O P
T A= Heo =2

@ 10714 @ 15714 ® 177H4]
@ 2074 ®)307HA]

BAAZ T2 A9 & 571
SRE T2E F99 4 3714
g 2L 399 41 271




4.

B = Atgrol 7helube S &

A’
e

@ 3 7HA @ 6 7HA
@ 12 7HA] ® 15 7HA

3x3=9 (7}A)




5. AB % AFEO] 719) HEGl, BE & of, dofjd S 9l BRE B¢
=7
@ 2714 @ 3714 ® 6714
@)9 71A] ® 12714

7HSY, BHYL, 2O] 3 71Alolx, B 7L &
37kA)elth. 1B & Lot B9 =




1 oA 9 74x] 9] 5=2H7F ARl obg AFe] FtE oA F Ao T Ao
FIEE ot 2t 2+ 9] 7tEof A3l 5 FRE o, 47t HE -2
=7
@D 6 71A @ 12 714 3 20 7}A]
@)26 714 ® 32 7}A]
H3 57 2471 HE AE 2479 E$ A gleng
A -9 oA E47 o= A2 & 3 Aot
9 x X 4
2o T _96(7FR
5 9 6(7FA])




7. Egd H7t & &EC] 30%, €22 H7t

2 3}80] 40% 2
o/ d% H7t & HELY

@ 5% @ % @12% @ 15%  © 18%

B

EQo] H7l @11 4QAE H7L &
3 4 12

So— X — = —
10 710 ~ 100

=, 12(%) ©ltt.

Mo

=
=

Lok




L5 H7F 24 ¢h= FE2 90% , W HI7F 4] = #E2 30%
d o, 253 W & o 7t o4 ¢hE E2?

12 27 4
@0 @1 ® Too D) 100 © %

(Fote 28
— (95 H7t 94 ke BH8) x (WY W7t oA %e BE)
90 30 27

=100 7100 ~ 100




A, B 5 7§ Y7L Qleh A &olle 3 F 4 /et He 3 3 A7t
AL, B FHoll= H7 g 3 /Het sk & 5 /H7F ek A, B ol 242
18-S A o, A oA AL Fol, B oA=& o] &
gE2?

@

S
> o
®

9 3 9
15 @% @—6

| =
ot




10. tF2 139 AABC ¢ AEFG °lA AB = AC,EF = EG ¥ W, zx+2y
o] 2717

@ 104° @ 105° @ 106° @ 107° @108°

B \

ABCD + o|gHAZgo|lnz
/CBD = 180° -2 °—36°
jm |

oflh

—-2Xx7

AABC £ ol sHAA P BER
(ABC = /ACB =72
S Lx=T2°-36°=36°

AEFG £ ol Ztgo|ng
(FGE = 36°, /FEG = 108°

T AEFH + o] 54| B &
(EFH = /FEH = 36°

Sy =108°-36°="72°

wat A zx 4+ Ly = 36° + 72° = 108°

° ofl




o2 2" A x + 7t

11.

® 71~75

@ 66 ~ 70

@61 ~ 65

® 81 ~85

@ 76 ~ 80

T x+y=55+6=061




12. thg a3 e A ABCD oA BE = DE, /BDE = /CDE
A off, zx o] 27]=7

A D

®1e @50 @ @ O e

B ~

/BDE = /a 2}l 5}'H /BDE = /CDE = za ©]3l, /x = 2/a
ACDE 9] WjZt9] 32 o]-gstH
180° = £CDE + «DEC + /ECD

= /la+ 2/a + 90°

= 3Za + 90°




